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(1) f(z,y) = 622 + 62y + 5y, D = {(z,y) | 2> +2y° < 1}
(2) fz,y) = 52* — 4wy +2y* D = {(z,y) | 32> +y* = 1}
(3) flz,y) = T2? —day +4y*, D = {(z,y) | 2* +¢y* = 1}
(4) f(z,y) = 32* + 8zy + 4y>, D = {(z,y) | 2> + 5y* < 1}

(5) f(z,y) = T2> — 8zy — 8%, D = {(z,y) | 2> + 4> < 1}

0000 f(z,y) 0000 DOOODf0 DOODOOOOOOOOO0OO0ODO
(1) f(z,y) =2 —2y, D={(z,y) | 2>+ 5y? < 1}
(2) f(z,y) =23 +2¢y%, D={(v,y) | 22 +y* < 1}
(3) flz,y) =2t +y*, D={(v,y) | 322 + 22 < 1}

(4) flzy) =23 +22y —3y>, D={(z,y) | 0S2<1,0Sy <2}



